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D

No N Y y " ) C
1 0.5 10 18.0 | 10.0 40 0
2 0.7 10 18.0 7.0 0 20
3 0.4 10 17.0 7.0 25 0
4 0.5 10 18.0 | 10.0 30 0
5 0.5 10 18.0 | 10.0 30 0
6 50.0 10 18.0 | 10.0 30 0
y (kN/m3)
y - (kN/m3)
® ()
C (kN/m2)
(y w) =9.8kN/m3
2)
=3.0m
=0.3m
=SP-  (100(H)x 400(W))
(9)=10.0kN/m2
3)
:SY295
(E) =200,000,000kN/m2
w =0.400m
2 (1) =0.0000874m4
) =874,000mm3
(o sa)=270N/mm2
2 1 ( B )=1.00
2 1 ( B =0.45
Z( ) =0.60

3.000

:SP-

(9)=10.00kN/m2

=0.300m
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D

Pa=Ka(Z y h+q)-2CV Ka

Pa=Ka(Z y h+q)-2CV Ka
Pa=0.3y h

Pa: (kN/m2)
Ka:
Ka=tan"2(45-¢ /2)
>y h:
Yy - (kN/m3)
( )
y " (kN/m3)
h :
q: (kN/m2)
C: (kN/m2)
0: ()
2)
Pw=y w h
Pw : (kN/m2)
y w: =9.80kN/m3
h : (@)
3)
®
S=[ Pa(x) dx+f Pw(x) dx
Pa(x): X
Pw(x): X
4)
Q)
M=[ x Pa(x) dx+[ x Pw(x) dx
Pa(x): X
Pw(x): X
( im )
H(m) W1 Ka Pa Pw P S( ) | M( )
-0.00( ) 10.00 | 0.217 | 2.174 - 2.174 0.000 0.000
-0.30(R.W.L) 15,40 | 0.217 | 3.349 0.000 3.349 0.828 2.352
-0.50(1 ) 17.40 | 0.217 | 3.784 1.960 5.744 1.737 4.706
-0.50(2 ) 17.40 - 2.220 1.960 4.180 1.738 4.708
-1.20(2 ) 22.30 - 3.690 8.820 | 12.510 7.579 16.927
-1.20(3 ) 22.30 | 0.406 | 9.051 8.820 | 17.871 7.579 16.927
-1.60(3 ) 25.10 | 0.406 | 10.187 | 12.740 | 22.927 | 15.739 29.915
-1.60(4 ) 25.10 | 0.333 | 8.367 | 12.740 | 21.107 | 15.739 29.915
-2.10(4 ) 30.10 | 0.333 | 10.033 | 17.640 | 27.673 | 27.934 43.803
-2.10(5 ) 30.10 | 0.333 | 10.033 | 17.640 | 27.673 | 27.934 43.803
-2.60(5 ) 35.10 | 0.333 | 11.700 | 22.540 | 34.240 | 43.412 53.727
-2.60(6 ) 35.10 | 0.333 | 11.700 | 22.540 | 34.240 | 43.412 53.727

-3.00(D.L) 39.10 | 0.333 | 13.033 | 26.460 | 39.493 [ 58.159 56.606

Wl=%y H+q
Ka

Pa

Pw

2 P=PatPw

S

M
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0=10.0kN/m2

?.17kN
3.60KkN9. 05K
8.37kN
10.19KkN
ho=0.973n \
10;Q3kN
11.70KN
13.03kN 26,46kN
L=7.500m
m
( im
H(m) W1 Ka Pa Pw SPo|sC ) |mC )
-0.00( ) 10.00 | 0.217 | 2.174 - 2.174 | 0.000 0.000 VKVl:ZV H+q
-0.30(R.W.L) 15.40 | 0.217 | 3.349 | 0.000 | 3.349 | 0.828 2.352 P:
-0.50(1 ) 17.40 | 0.217 | 3.784 | 1.960 | 5.744 | 1.737 4.706 P
-0.50(2 ) 17.40 - 2.220 | 1.960 | 4.180 | 1.738 4.708 3 P=Pa+Pw
-1.20(2 ) 22.30 - 3.690 | 8.820 | 12.510 | 7.579 | 16.927 ;
-1.20(3 ) 22.30 | 0.406 | 9.051 | 8.820 | 17.871 | 7.579 | 16.927
-1.60(3 ) 25.10 | 0.406 | 10.187 | 12.740 | 22.927 | 15.739 | 29.915
-1.60(4 ) 25.10 | 0.333 | 8.367 | 12.740 | 21.107 | 15.739 | 29.915
-2.10(4 ) 30.10 | 0.333 | 10.033 | 17.640 | 27.673 | 27.934 | 43.803
-2.10(5 ) 30.10 | 0.333 | 10.033 | 17.640 | 27.673 | 27.934 | 43.803
-2.60(5 ) 35.10 | 0.333 | 11.700 | 22.540 | 34.240 | 43.412 | 53.727
-2.60(6 ) 35.10 | 0.333 | 11.700 | 22.540 | 34.240 | 43.412 | 53.727
-3.00(D.L) 39.10 | 0.333 | 13.033 | 26.460 | 39.493 | 58.159 | 56.606
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D

2)

et(

3)

Lo=2.5/pB

B (

(Kh)
-)"(-3/4)=6,728KkN/m3
)
n =l
=93,333kN/m3
)=2800N=28,000kN/m2
)=1
N ) =10.00
) =10m
=0.55695/m
) =6,728kN/m3
) =1.000m
) =200,000,000kN/m2
2 ) =0.0000874m4
)=1.00
(Lo=2.5/B)
=4_489m
)=0.55695/m

1.2 Fs (Ld)
W
Fs=----- =1.20
u
w: (kN/m3)
w=y " Ld =25_6kN/m3
y = =18.0kN/m3
A =9.8kN/m3
y " =8.2kN/m3
v -y w
Ld : =3.123m
u:
(kN/m2)
1.57y w hw
U =N —mmmmmmme =21.34kN/m2
4
u ywhw
A
A=A1A2 =2.05
Al
A 1=1.30+0.70(B/Ld)"(-0.45) =2.16
A 1<1.5 A 1=1.5
A2
A 2=0.95+0.09(L/B+0.37)"(-2)=0.95
L/B ( / )
L( )=10.000m
B( )=2.000m
hw : =2.700m
(Ld)
Ld =3.123m
Chang (Lo=2.5/B )
(4.489m )
H( ) =3.000m
Lo H)
Ln=Max(Lo,H) =4.489m
4)
L=H+Ln=7.489m
H ( ) =3.000m
Ln( ) =4_489m
(L) 0.5m
L ( )=7.500m
Ld( ) =4.500m
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P ( ) =[ Pa(x) dx=58.16kN
ho( )=M/S =0.973m
M( ) =56.606kN m
S( )=58.159kN
2)
®B)
4 Kh B
B=vV - =0.68001/m
4El et
Kh( ) =6,728kN/m3
B ( ) =1.000m
E ( ) =200,000, 000kN/m2
1 ( 2 ) =0.0000874m4
et( )=0.45
3)
Q)
M=P ho ®m =72_.053kN m
=72,053,304N mm
P: =58.159kN
ho: =0.973m
v ((1+2B ho)"2+1) 1
PMm=—-mm e - exp[-arctan(-------- )]1=1.273
2B ho 1+2B ho
B: =0.68001/m
4)
(Lm)
1
Lm=---- B3 Im =0.598m
B
1
B Im=arctan(-------- ) =0.406
1+23 ho
B: =0.68001/m
ho: =0.973m
5)
(0 9)
Mmax
0 S=--------- =137N/mm2
Z et
Mmax ( ) =72,053,304N mm
z ( ) =874,000mm3
et ( ) =0.60
o sa( ) =270N/mm2
gs Osa
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D

2)

Kh(
B (
E(
I (
et(

2E 1 B3

h(1+23 ho)

261 B "2

P2" HM

0 =0 1+0 2+0 3

(o2 I et et ex]
w N -

™

U L == [T T
A
e s

P2°=6% M/H"2

3%

6 a=0.03H

d da

% a)

)

)

=0.68001/m

) =6,728kN/m3

)

=1.000m
=200, 000, 000kN/m2
=0.0000874m4
)=0.45

=0.0195m

=0.0557m

=0.0130m

=0.0882m

=0.68001/m
)=0.973n
=58.16kN

=200,000,000kN/m2

)

=0.0000874m4
=3.000m 5 =0.088n
=37.74KN/m
Q)
=0.090m
o 1:(\)‘. DROm
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
L=7.‘500m
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